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GEOGRAPHY
Paper -l

Note :

This paper contains seventy-five (75) objective type questions. Each question

carries two (2) marks. All questions are compulsory.

1. Which of the following terms is associated

with glaciers ?

(A) Saltation
(C) Esker

2. Fiordis a
(A) Submerged river valley
(B) Emerged river valley
(C) Shallow glacial valley
(D) Glacial valley continuing into the sea

(B) Solifluction
(D) Hanging wall

3. Consider the following statements and
identify the correct answer using the
codes given below

1) Formation of mountains is due to
epeirogenic forces.

2) First breaking of Pangaea took place
during Cretaceous.

3) Nappe is a type of recumbent fold.
Code :

(A) Only 2 is correct
(B) Only 3is correct
(C) 1 and 2 are correct

(D) 1 and 3 are correct

4. What is the correct chronological
sequence of the geomorphologists who
explained landform evolution ?

(A) Davis, Penck, L. C. King, Hack
(B) Penck, Davis, L. C. King, Hack
(C) Hack, Davis, Penck, L. C. King
(D) L. C. King, Penck, Davis, Hack

K-0813 (3)

5. ldentify the correct sequence of streams
under fluvial system
(A) river, rills, streams, waterlines
(B) waterlines, rills, streams, river
(C) streams, rills, river, waterlines
(D) rills, streams, waterlines, river

6. Correct sequence of the populated city
according to 2011 census is

(A) Kanpur, Allahabad, Jaipur, Patna
(B) Patna, Jaipur, Allahabad, Kanpur
(C) Allahabad, Patna, Kanpur, Jaipur
(D) Jaipur, Kanpur, Patna, Allahabad
7. Match the List— I with List— I, and identify

the correct answer by using the codes
given below

List-1 List-II
(Terms) (Process/Area)
[) Geosyncline 1) Semi-arid
region
) Inselberg 2) Mountain
building
lIl) Isostacy 3) Earthquake
IV) Epicentre 4) State of
Equilibrium
Code : I m v
A 4 3 1 2
B 3 2 1 4
<©c 1 4 3 2
Dby 2 1 4 3
Paper il
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8. Assertion (A) : Frictional wearing down
of a rock surface by material transported
by running water is called corrosion.

Reasoning (R) : Water is a good solvent.
Code :
(A) Both (A)and (R) are true and (R) is
the correct explanation for (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

9. Assertion (A) : Heat is a form of energy
which makes things hotter.

Reason (R) : Temperature measures the
intensity of heat, i.e. the degree of
hotness.
(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

10. According to 2011 census the total
number of census towns in Karnataka is

Total Number of Pages : 24

11. Match the List — | with List — II, and identify
the correct answer from the codes given

below
List-1 List-II
(Navigator) (Land

Discovered)

[) Henry the 1) Australia
Navigator

[l) Ferdinand 2) West Coast of
Megalan Africa

[I) James Cook 3) East Coast of
North America

IV) Columbus 4) Circumnavigation
of the World
Code: | n m 1
A 1 4 3 2
B 2 1 3 4
Cc 4 3 1 2
b 2 4 1 3

12. Consider the following statements and
identify the correct answer from the
codes given

1) Nearly 22% of world’s coal reserves
occur in USA.

2) South Africa ranks 2"%in the world’s
coal reserves.

3) India account for 7% of the total
world coal reserves.

(A) 1 and 2 are correct
(B) 1 and 3 are correct
(C) 2 and 3 are correct

(D) Only 2 is correct
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13. Under French School of Geography the
correct sequence of scholars about their
age is

(A) Vidal de la Blache — Phillippe
Bauche — Albert Demangeon

(B) Phillippe Bauche - Albert
Demangeon — Vidal de la Blache

(C) Albert Demangeon — Vidal de la
Blache — Phillippe Bauche

(D) Vidal de la Blache - Albert
Damangeon — Phillippe Bauche

14. When was the concept of urban
agglomeration introduced for the first time
by Indian census ?

(A) 1971
(B) 1991
(C) 1981
(D) 1921

15. During which one of the following
decades the country (India) recorded a
decline in its population ?

(A) 1901 — 1911
(B) 1991 — 2001
(C) 1911 — 1921
(D) 1941 — 1951

16. With which one of the following is rank-

size rule associated ?

(A) Rural-urban fringe
(B) Urban settlements
(C) Rural settlements
(D) Metropolitan cities

K-0813
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17. Consider the following statements and

identify the correct answer using the
codes given below

1) Madhya Pradesh in India has the
lowest density of railway network.

2) Maharashtra State in India has the
highest literacy rate.

3) Khader represents the massive rock
formations in Decan plateau.

4) Brahmaputra river represents a super
imposed drainage.

Code :
(A) 1 and 2 are correct
(B) 2 and 3 are correct
(C) 3 and 4 are correct
(

D) 4 and 1 are correct

18. Among the given districts of Karnataka,
the correct sequence from highest to
lowest in terms of population density in
2011 is

(A) Dharwad, Hassan, Udupi, Bijapur
(B) Udupi, Dharwad, Hassan, Bijapur
(C) Dharwad, Udupi, Hassan, Bijapur
(D) Udupi, Bijapur, Dharwad, Hassan
19. Identify the correct hierarchical order of

cities in Karnataka as per their 2011
population size

(A) Tumkur, Raichur, Belgaum, Bijapur
(B) Belgaum, Bijapur, Tumkur, Raichur
(C) Bijapur, Tumkur, Belgaum, Raichur
(D) Raichur, Belgaum, Bijapur, Tumkur
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20. Match List — | with List — Il and identify
the correct answer using the codes given

below
List—1 List—1I
(Location) (Industry)
l) Rishra 1) Fertilizers
I1) Namrup 2) Paper
[Il) Shahabad 3) Jute
IV) Titagarh 4) Chemicals
5) Cement
Code: | n m 1
A 2 4 A 3
B 3 1 5 2
<Cc 1 3 4 5
(b 5 2 3 1

21. Which of the following pair of scholar’s
time and contribution referred as
classifical period of modern geographical
thought ?

(A) Vidal de la Blache and Albert
Demangeon

(B) Verunus and Kant
(C) Alfred Hettner and Albrecht Penck
(D) Halford J. Mackiender and Spykman

22. The planimeter is an instrument used to
measure

(A) The area on the map
(B) The distance on the map

(C) The height of an elevated area on
the map

(D) The distance to the sea on the map

K-0813
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23. Assertion (A) : Guyots and sea mounts
are isolated peaks rising from the floor of

the ocean.

Reasoning (R) : Both are usually
submarine volcanoes.

Code :
(A) Both (A) are (R) are true and (R) is
the correct explanation for (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)
(C) (A)istrue but (R) is false
(D) (A)is false and but (R) is true

24. As per census 2011, the average
population density for Karnataka State is

(A) 276 (B) 319
(C) 325 (D) 389

25. Pawan Hans provides services related to
(A) Thermal Power
(B) Wind Power
(C) Information Technology
(D) Air Transport

26. Which one of the following is the largest
tea producing state in India ?

(A) Assam

(B) West-Bengal

(C) Himachal Pradesh
(D) Tamil Nadu

27. One of the greatest environmental
disasters which resulted due to diversion
of river waters by man affected

(A) Aral sea (B) Red sea

(C) Yellow sea (D) Black sea
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28. What is the correct hierarchical order for
the given seas as per their size ?

(A) Mediterranean sea, Caribbean sea,
South China sea, Sea of Japan

(B) Caribbean sea, Mediterranean sea,
South China sea, Sea of Japan

(C) Mediterranean sea, South China
sea, Sea of Japan, Caribbean sea

(D) South China sea, Mediterranean
sea, Caribbean sea, Sea of Japan

29. The functional classification of urban
settlements was proposed by

(A) Homer Hayt

(B) G. Alexanderson
(C) W. Christaller
(D) E. Ullman

30. Inthe context of the two statements given
below, which one is correct ?

Assertion (A) : Maximum rate of erosion
is found in the middle course of the river
valley.

Reason (R) : The volume of water is
maximum in the middle course of river
valley.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation

(B) Both (A) and (R) are true but (R) is
not the correct explanation

(C) (A) is true but (R) is false
(D) (A) is false, but (R) is true
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31. Inthe context of the two statements given
below, which one is correct ?
Assertion (A) Stalactites and
Stalagmites are the typical depositional
features of Karst regions.

Reason (R) : The evaporation of water
droplets takes place in the underground
caverns.
Code :
(A) Both (A) and (R) are true, and (R) is
the correct explanation
(B) Both (A) and (R) are true, but (R) is
not the correct explanation
(C) (R)istrue, but (A) is false
(D) (A)istrue, but (R) is false

32. Who believed the world population
growth was far outspacing the world
ability to produce food ?

(A) Thomas Malthus
(B) E. W. Burgess
(C) J.H.Von Thunen
(D) Schultz

33. Primary ecological succession may be
observed in
(A) New volcanic islands
(B) Selva
(C) Steppe
(D) Taiga

34. Consider the following statements and
identify the correct answer using the
codes given below

1) Average salinity for the ocean as a
whole is 45%.

2) Potassium chloride ranks next to
sodium chloride in salinity.

3) Salinity is very low in Baltic sea.

Code :

(A) Only 2 is correct

(B) Only 3is correct

(C) 1 and 2 are correct

(D) 2 and 3 are correct
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35. Assertion (A) : Coral reefs are absent
on the western coasts of the continents.

Reasoning (R) : West coast of continents
have cool currents and upwelling of cold
water.
Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)
(B) Birth (A) and (R) are true but (R) is
not the correct explanation for (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

36. Identify the correct sequence of crops
cultivated broadly from south to north in
central U.S.A.

(A) Wheat — Maize — Cotton
(B) Cotton — Maize — Wheat
(C) Maize — Wheat — Cotton
(D) Wheat — Cotton — Maize

37. Match List — | with List — I, and identify
the correct answer using the codes given

below
List—1 List-1I
(Authors) (Concepts)
I) Walter Christaller 1) Sector theory
) H. Hayt 2) Multiple nuclei
lI) E.M.Burgess 3) Concentric zone
IV) C. D. Harris 4) Central place
and Ullman theory
Code: | n m 1
(A) 1 2 38 4
B 3 2 1 4
Cc 2 4 A1 3
by 4 1 3 2
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38. Which one of the following is used as
one of the variable for measuring Human
Development Index ?

(A) Life expectancy at birth
(B) Age structure

(C) Urbanization

(D) Crude birth rate

39. A planning region which represents
social unity is
(A) City region
(B) Tribal region
(C) Mineral belt region
(D) River valley region
40. Consider the following statements and

identify the correct answer using the
codes given below

1) The economic base analysis helps in
finding industrial location.

2) The economic base analysis and
hypothesis on economic growth of a
region help to sell its goods beyond
its jurisdiction.

3) The economic base analysis predicts
the regions growth trend.

(A) 1 and 2 are correct
(B) 2 and 3 are correct
(C) 1 and 3 are correct

(D) 2 only is correct

41. Inthe context of the two statements given
below, which one is correct ?

Assertion (A) : DVC Project in India
constitute one of the successful regional
planning projects of India.

Reason (R) : DVC in India was the first
river basin based project of India.
Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation
(B) Both (A) and (R) are true but (R) is
not the correct explanation
(C) (A)istrue but (R) is false
(D) (A) is false and (R) is true
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42. Match List — | with List — II, and identify
the correct answer using the codes given

below
List—1 List—1II
(Regions) (Planning
regions)

I) Macro region 1) Meso regional

planning

II) Meso region 2) Area planning

lIlI) Region 3) Village level
planning
IV) Local 4) Macro regional
planning
Code : I n m 1
A 1 2 3 4
B 4 1 3 2
C 2 3 4 1
Do)y 4 1 2 3

43. Assertion (A) : Mediterranean lands
have sclerophyll vegetation.

Reasoning (R) : Mediterranean region
receives more rainfall during summer.
Code :
(A) Both (A) and (R) are true and (R) is

the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true
K-0813
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44. Match the List — | with List— Il and identify
the correct answer, using the codes given

below
List-1 List-II
(Industry) (Area)
[) Warangal Silk 1) Uttara Pradesh
Textiles
[l) Dhariwal Wollen 2) Rajasthan
Textiles
[I) Bhiwandi 3) Andhra Pradesh
Synthetic Textiles
IV) Shoe making  4) Punjab
Centre Kanpur
Code: | n m 1
A 4 8 2 1
B 2 38 4 1
C 8 4 2 1
by 2 4 3 1

45. Consider the following statements and
identify the correct answer using the
codes given below

1) Indian census classifies towns as per
population density.

2) In census 2001, Class | cities were
further classified as M1 toM 7.

3) Class lll towns have a total population
between 20000 and 50000.

Code :

(A) 1 and 2 are correct

)

B) 1 and 3 are correct
) 2 and 3 are correct
)

(
(C
(D) Only 3is correct
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46. Assertion (A) : Western Himalayas
receive lesser rainfall than Eastern
Himalayas.

Reasoning (R) : Western Himalayas are
located farther north than the Eastern
Himalayas.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

47. Consider the following statements and

identify the correct answer using the
codes given below

1) Urban population density model was
developed by Clark.

2) Newling used the term density crater.

3) Suburban development has no
impact on urban population density
model.

Code :
(A) Only 1 is correct
(B) Only 2 is correct
(C
(D

) 1 and 2 are correct

) 2 and 3 are correct

48. Some countries have been used on
account of the great power rivalries and

the best example for which is
(B) Thailand
(D) India

(A) Myanmar
(C) Afghanistan
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Which of the following nations is not a
dependency of Great Britain ?

(A) Nepal (B) lIsrael

(C) Bhutan (D) Sikkim

A nation which is created through an
U. N. resolution is
(A) Hungary
(C) Syria

(B) Yugoslavia
(D) Israel

Which of the following sequence of Indo-
Eurpoean language family that can be
seen from North to South in Western
Europe ?

(A) Dutch-Norvegian -Spanish

(B) Norvegian-Dutch-Spanish

(C) Spanish-Norvegian-Dutch

(D) Dutch-Spanish-Norvegian

The GPS satellites transmit data in

(A) C Band (B) K Band

(C) L Band (D) X Band

In a relational database structure,
individual records in rows are called
(A) Spaghetti (B) Array

(C) Attributes (D) Tuples

The R. F. for survey of India quarter inch
sheet is

(A) 1:25,000
(B) 1:50,000
(C) 1:63,360
(D) 1 : 250,000
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55. Consider the following statements and
identify the correct answer from the
codes given below

1) Brazil is the largest producer of
Bauxite in the world.

2) India ranks 3" in Bauxite production
in the world.

3) In Australia most of the Bauxite
production is concentrated in the
South Coast.

Code :
(A) 1 and 2 are correct
(B) 1 and 3 are correct
(C) 2 and 3 are correct

(D) Only 2 is correct

56. Consider the following statements and
select the correct answer using the codes
given below

1) The equator, which is the central
parallel, is marked as 0°.

2) The spacing between parallels are
uniformly equal.

3) The lengths of the parallel decreases
towards the poles.
Code :
(A) 1,2 and 3 are correct
(B) 1 and 2 are correct
(C) Only 1 is correct
(D) 1 and 3 are correct
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57. Assertion (A) : Orographic precipitation
occurs when winds are forced to ascend
the scope of mountains.

Reason (R) : The ascend of air causes
condensation and then precipitation
occurs on the windward side of the
mountains.
Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
58. What property is responsible for
raindrops being spherical ?
(A) Atmospheric pressure
(B) Humidity
(C) Surface Tension
(D) Viscosity
59. The term describing the average number
of births a women will bear in her life time
(A) Crude birth rate
(B) Crude death rate
(C) Total fertility rate
(D) Natural increase rate

60. In the context of the two statements given
below, which one is correct ?

Assertion (A) : Population geography
does not duplicate demography.

Reason (R) : Both have different
perspective in analysing population.

Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation
(B) Both (A) and (R) are true but (R) is
not the correct explanation
(C) (A)istrue but (R) is false
(D) (A) is false and (R) is true
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SRNTS, MY ﬁradﬁ WeRIBT
(C) &y TN WBE DOTST[, TRODY,
(D) ) esR3rne aaags%ojod% BRRVRIZS
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65. 533N 0IREE TOWE Feedod0 BT TR
WNFETTHTY, ATYPRT FTT FEOUOT
TN BTN AOOIRTIITNGS ?
(A) Df, Cf, Aw, Af
(B) Cf, Aw, Af, Df
(C) Af, Aw, Cf, Df
(D) Aw, Df, Cf, Af
66. 3 TINT TeYTNTRY NWoRR ROy T

BT FoBeNYE BOOIRTITR MOTOER

1) 05, 5208 [HBNIE & 1N BT
mmmos TOLFOD 0 20 WETZT.

2) 2VPOT TYPTOOWN B, TeFBNY
SVZT TNNK SN cs’z‘asa pIatat<lat
BReDRTRN 7 © WACIRNTIZE,

3) BT TENRYY TR TSN G T
BN NNV, QO QT 0O
£zsawr\da§c§.

Tode3 :
(A) 1,2023370 (B) 1303370
(C) 20223 70 (D) 1 &5232 %o
67. 3INS TBePBRIRY Msods :0=) 39Tt Broedtds

Ro3eBNYY BOCIRT LVBTHR) NSO

1) cdnzIN  @FOTPOZT  FOOIOR)
TORPOTTOMIT)TIRE 7Y e:ac:u’d};L e
PR[T0T0 FTCI0TTL.

2) PRAYSIT HOTY, &HBITIW,
mm{gé@ TRTTTORE.

3) RReER) 20T WO PR,

Tode3 :
(A) 1,23023370 (B) 13032370
(C) 20223 70 (D) 1 &322 7o
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61. Albedo is defined as

(A) The ratio of the amount of radiation
reflected to the amount received on
a surface

(B) Heat radiation reflected to space
from the earth’s surface

(C) 26 percent of heat radiation reflected
by clouds

(D) 50 percent of heat radiation reflected
by clouds

62. Convectional rainfall is common in
(A) Equatorial region
(B) Mediterranean region
(C) Taiga region
(D) Tundra region
63. A hypergraph is defined as

(A) A graph in which monthly mean
temperature is plotted against the
monthly rainfall

(B) A graph in which data pertaining to
two climatic elements of a place are
plotted against each other

(C) A graph representing the nature of
work done during various periods
of time of year

(D) A graph representing mean monthly
rainfall and wind velocity

64. Anticyclones are so called because

(A) They move in a direction opposite
to that of cyclones

(B) They are systems of divergence and
outflow of air

(C) They have no pressure gradient

(D) They destroy the
conditions

cyclonic

K-0813
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65. Which of the following sequences
represent correctly the Koeppen’s
classification from equator towards pole ?

(A) Df, Cf, Aw, Af  (B) Cf, Aw, Af, Df

(C) Af, Aw, Cf, Df (D) Aw, Df, Cf, Af

66. Consider the following statements and
identify the correct answer using the
codes given below

1) Inthe middle latitudes, aspect of slope
is a major factor affecting temperature
distribution.

2) Northern slopes of Alps mountains are
comparatively warmer than the
southern parts due to aspect of slope.

3) Inversion of temperature is dominant
in inter mountain basins during winter
nights.

Code :
(A) 1,2 and 3 are correct
(B) 1 and 3 are correct
(C) 2 and 3 are correct
(D) 1 and 2 are correct

67. Consider the following statements and
identify the correct answer using the
codes given below :

1) When unsaturated air becomes
saturated, it is called condensation.

2) During condensation latent heat is
released.

3) Cloud is a form of condensation.

Code :
(A) 1,2 and 3 are correct

(C) 2 and 3 are correct

)
(B) 1 and 3 are correct
)
(D)

1 and 2 are correct
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68. THRZT* é)a’oagae BT oimzﬁo:ba’g{

O3 BOT LTSRN TLENT 0TI
(A) Q038 (B) %03ncdne
(®) ;‘q:esf (D) 3nntoiEne

69. TTWowWT e. 500X, TR BTSN
VTRT TS
(A) FOWCDT TeSNEd
(B) @35 Teansd
(C) wrieod omw; Te3nsd
(D) T8£a wadoedme 3N

70. xR & eﬂs—a?%’@sﬁ% 039w IO Toeed

QFRCDNT 03T
(A) Speew (B) womaw
C) g & (D) g

71. 85 BYNT QW 0FTY, CINTO JINTS
STETOTRNGROT § 0% 5‘0@2’06’ plotat
ReOTETNTRT?

(A) E. M. a3

72. T[TOWE 2.4, B YUBITIODA 19T o
ajlon magd)n’e;’ TOLO BTN ROTIRTI
HFETT

(A) 35 @222 Ze.

(B) 36 =223 3.
(C) 20 =03 16 3e.
)

(D) 37 &3 18 3.

Total Number of Pages : 24

73. B~ | 3 B3 — Il SRBES sipedr B3

ROOIRT VTR, TRETIT FOTENTY,
SlovEEY

w%—l wl%—ll
(B3e3) (553,83 Bom=RY)

) BEe 1) 80020

) 338, 2) B33 IRoR
@@e@oﬁa

lll) eedroedae 3) T BRBOR

TROND
V) &5 e Ag,  4) Boodnsd

5o8e3 : Inom oW
(A) 1 2 4
B 3 1 2
c) 2 1
(D) 1 4 3

N A AW

74. 2 -FORRD0ID WIT WITBSBANST
TBRTZOTED
(A) 330U -B0TOF - 57 - DTRTIW®
(B) 33923 - 57 -BT° -0 - QTWT®
(C) 320t -BT - - RRRT
(D) 3=0er-e9e5°-&0°
75. mﬁmeﬁﬁmﬂg QTOTT BFCLICHR® W3SQTIN
@ssagémzﬁ R)RBERYTTT
(A) E=F-Todrea®
(B) 0ee3c3netoenidD
(C) &m0Be* HR03T®
(D) = m»na®
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68. Hoover hydro-electric project is built
across the river

(A) Mississippi (B) Orinoco
(C) Snake (D) Colorado

69. About 50% of the world’s coffee
production comes from

(A) Caribean countries

(C

)

(B) African countries
) Southeast Asian countries
)

(D) South American countries

70. Aswan dam is built on the river
(A) Volga
(B) Donube
(C) Rhine
(D) Nile
71. Among the following who belongs to
behavioural school of industrial location ?
(A) E. M. Hoover
(B) August Losch
(C) Allan Pred
(D) Frank Fetter

72. In the total global output of sugar cane
the share of India and Brazil respectively
is about

(A) 35 and 22 per cent
(B) 36 and 23 per cent
(C) 20 and 16 per cent
(D) 37 and 18 per cent
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73. Match the List — | with List — Il and identify
the correct answer using the codes given

below
List—1 List—1I
(Region) (Animal
resource)
[) Denmark 1) Wool sheep
[l) Southwestern  2) Beef cattle
Australia
ll) Arjentina 3) Dairy cows

IV) Central Asian  4) Horses
Steppe
Code: | nm 1
A 1 2 4
B 3 1 2
<Cc 2 3 1
o)y 1 4 3

N b bW

74. Literary work which is odd to Al-Masudi is
(A) Kitab-Muraj-al-Dhahab
(B) Kitab-al-Tanbh-Wal-Ishraf
(C) Kitab-Aakbar-al-Zaman
(D) Kitab-al-Hind
75. Father of Geography Hecataeus has
written a famous book and that is
(A) Ges-Periodos
(B) Meteorologica
(C) Historical memoir

(D) Cosmos
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